l !eneral !Hw ge

the Nobel Prize in 2017 Q1 2017 A s FHA F fbw faer A e

QI Kazuo Ishiguro won :
for which discipline? QR T or
(A) Chemistry (A) = s
(B) Physics (B) e fasm
(C) Mathematics (C) nforer
(D) wifgey

(D) Literature

Q2 Who was the first woman Leader of the Q2  ufdwr ¥Wre & fuy @ ggd wfeen

Opposition in the Pakistan Senate? T B o7

(A) Bilawal Bhutto Zardari (A) R&Ea ) svard)
B Benazir Bhutto LBy TR g

(C) Sherry Rahman (C) 9 wEu™

(D) Mumtaz Mahal (D) #Aard wEd

3 What is India’s cruise missile with seeker Q3 ¥ d&ia & W R 9 mor MaEe
technology called? & 22 8
(A) Prithyi
(A)

(B) Garuda (B) m Y
(C) BrahMos aenir

B . oiiceobnews.in KUREES

How many trans-border trains operate Q4 IRT IR Tfva & dra feedt e

between India and Pakistan? £ Hora &2

(A) 4 (A) 4

(B) 1 (B) 1

(€ 2 (C) 2

D)3 ' 4 - (D)3

F o AL

Which company was recently implicatedin Q5 &1 141 t@ 4w 27 v s R
ra:; data theft crime? TR BT W Sy e
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Q7

D8

The large-scale expansion of the British rule
in India occurred through subsidiary
alliances, which was started during lh.c
Governor-General ship of _
(A) Lord Warren Hastings
(B) Lord Comwallis
(C) Lord Wellesley
(D) Lord Clive

.Aﬂer the death of Guru Gobind Singh, the
institution of Guruship came to an end and
the leadership of the Sikhs passed 1o his
trusted disciple
(A) Ranjit Singh
(B) Banda Bahadur
(C) AjitSingh
(D) Jujhar Singh

The name Pakistan was first coined by

(A) Mohammad Igbal
(B) Mohammad Ali Jinnah
(C) Choudhry Rahmat Ali
(D) Maulana Azad

Rabindranath Tagore renounced his
knighthood in protest of the

(A) Cabinet Mission

(B) Jallianwala Bagh massacre

(C) Rowlatt Act
(D) Simon Commission

The river Godavari originates in the state of

(A) Madhya Pradesh
(B) Chhattisgarh
(C) Maharashtra
(D) Odisha

Which of the following is the largest
freshwater lake in India?

(A) Dal Lake

(B) Loktak

(C) Chilika

(D) Wular

Q7

Q8

Q9

Q10

Ql2
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(B) waflemg. /
(C) WERTS;
(D) 3ifewm
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(A) 9 dig
(B) Avwem
(C) foreamr
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Q18 Which one of the following princely states

Q19

Q20

Q21

announced its accession to Pakistan in 1947
but was later forced to join India after the
plebiscite result?

(A) Rampur

(B) Junagarh

(C) Faridkot

(D) Porbandar

Which one of the following Indian states,
does NOT have the Tropic of Cancer passing
through it?

(A) Rajasthan

(B) Tripura

(C) Mizoram

(D) Uttar Pradesh

Which of the following Indian states does
NOT have a bicameral legislature?

(A) Uttar Pradesh

(B) Jammuand Kashmir

(C) Tamil Nadu

(D) Karnataka

Who was the Chairman of the Union Power
Committee of the Constituent Assembly of
India?

(A) Dr. Rajendra Prasad

(B) JB Kripalani

(C) Sardar Vallabhbhai Patel

(D) Jawaharlal Nehru

ten an English book
ashing India” which outlines how India

me a superpower in 25 t0 30 years?
) Veerappa Moily

Q19

Q20

Q21

Q22

Q23

ﬁmmmmmﬁm
e 7 o &7

(A) YOI

By g

() fAarH
(D) @ wadl <

HIRe ) wiuE w1 A e i | g
Jyenel P A7

LAY S1 ToiE TR

(B) &, @ Fuc =

(C) TER aoory ¥g ued

(D) TAER & ES

wrEH 1R g o wR-HTE
-8R ford g e
- (A) W
(B) werderemd
(C) 3mivg
(D) FETa

R 1@ sl gee “arfrdfm
forelt 8, St weneh & 26 wwa 25 9 0 "
A wEraf $Y g wwar 87

(A) dRur wgeh

(B) THYH Fwn

(C) uf¥r e

(D) wHER gt



Q24  In December 2016, Indian Railways started
the first Humsafar class of trains between Q24 Raw 2016 # ARAE ¥ A IR FMER

Mmllld . AR @ e o eey A @
(A) Allahabad 29 A gHIE |
(B) Gorakhpur ) (A) geEaT
(C) Varanasi (B) TRER
(D) Ballia (C) awRe
(D) aferan
Q25 The famous Sufi Saint Sheikh Salim Chisti .
Dargah is situated at i o T 0 W e R A 7o
Pradesh. | SR e B ... ¥ Red B
(A) Jaunpur (A)
e o
(C) Fatehpur Sikr (D) AR

R v PoliceJobNews.in]

Q26 Which is the third highest peak in the Q26 fRmea @ ﬁﬂm T T R 39

Himalayas? 04

(A) Mount Lhotse (A) WISE S

(B) Mount Makalu (B) WISE FOTE

©) Mount Fuji (C) WS¢ Tl
- 4
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Q36 Which of the following is the oldeg

Q37

Q38

university in Uttar Pradesh? Q@6 Frefafan § 4 @9 o wew wm @
(A) Aligarh Muslim University wR e frvefigar 87
(B) Banaras Hindu University (A) srefrrg Hftem Rrvafagare
(C) Mahatma Gandhi Kashi Vidyapeeth (B) wrew g, Rreafaarera.
(D) Allahabad Central University (C) ewy ht S R

(D) goerE #d fewafrgasy
Wh'd“i::‘e?ﬁr:t:'s;\cnyisknm:sme QY7 IR WU B W B Wl w AW B
Grassc WM | T e 87
(A) Gorakhpur (A) TheEg
(B) Moradabad (B) FRTETATE
(C) Banaras (€) TR
(D) Kannauj (D) F=itw
Which neighbouring country is known as the Q38 fa USRR ST A e 3w T U FA
‘Land of the Thunder Dragon’? e o &7
(A) Burma (A)
(B) Nepal (B) et
(C) Bangladesh (C) areTEISL
(D) Bhutan By e

General Hindi
Q42 o A gES YA & A T A 6

(A) | T

Byt wE

(C) wifew adtH

(D) ¥Wrea i

Qu3 Preferfia # weg e &

(A) T

(B) HTHR

(C) HTREH

(D) 3T

(A) T

(@) M

© ™

4By
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(B) 3T &1
(C) 919 P
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Q58 AR ¥ @1 W WE 8-
(A)

(B) w4

(C) fawa

(D) IHE



Q59 gy @ wer =RVl # fwrh AEN g &7

(A) 11 Q66 = fr wem @1 foresy #7
® 12 & o
13
Eg)) : X (C) @
, (D) wwaE

Q60 Frefeifad & T =D & Frafafea wguin = oy stk @ ™
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o el )& W8 o o e
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Q69 mﬂxwwmmﬁmw (A) AT TS
| T
(A) I peadl (B) < Eard fer
) SuE ©)
) ot AR (D) werdl
(D) BN I T
Q4 g P Sur &7
(A) = Wiy By AHE
1 e R~ (C) #wi e
(C) s ggs (D) JFXHI
(D) it yfiyaifiand ,
Q75 Ha@ ﬁmaﬁmmﬁanm%?
Q71 Well & Mwy wR &1 HRor TE B (A) TER
(A) wryef “fifer (B) g
(B) wHl @ wearh — (C) W=
(C) gREnait @1 apma (D) gerdE™
W*WWM T
Q72 SRR T AT @ vafia &
(A) TIUER gHE
(B) e o
(C) wrag sRwEe
(D) w7 wrE
Numerical & Mental Ability
Q76  1f21 chocolates are shared in the ratio 5 : 2, Q76 af% 21 widcie 5 : 2 @ U § W A
the smallershare willbe__ chocolates. ol € o B Ry ¥ frad wfede
(A) 3 i
(B) 6 — (A)3 S
© 9 _®r§ kit
(D) 10 ©) 9 ¢ @
D) 10 (5,

Q77 Mahim secured 126 marks in a test out of
175 What was the percentage of marks

I e g
obtained by Mahim?
{3 (4
S0 /M s
TAN
y
L) ’

lﬁ A

/ (D) 70

Q77 A X T e 175 3 R 126 3 I
fopy | mftw qawT W fag st @ A

7 Y
(A) 75 (\_9_.—!‘_,)&&0‘6
—BY 7T =S |\ %

© 70.5
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Q78 Select the most appropriate option.
What is 12% of 35?
(A) 4.6
(B) 44
(€) 42
(D) 4.05

Q79 Bysellingan item for T 434, Ramesh makes
a profitof 24%. What was the price at which
Ramesh purchased the item?

(A) T 350
(B) T360
(€) T340
(D) X375

Q80 Aftera discount of 12%, a toy Was sold for
Z 132. What was the marked price of the

Q78 W Sy fwed o g |
35 @ 12% Brn?

/lA) 4.6 A i @

(B) 44 7_8/"»’9 Xop X -3
(D) 4.05 ¢S =

Q79 Ty U@ avg 434 Hug A U 24% S
o &1 B A T8 avg fEw IEd W

i a7 @ pu CQ
JEIAR y = WM

(B) 360 FN ¥

(C) 340 FIT

\o© \L-

(D) 375 &9 —

toy? ur? L
A) 2140 (A) 140 T Q@ &
N o © T U
(©) 2150 3 =
(D) T 160 (D) 160 T p s

U @] 3 e D & Ll 3%
(A) 240 9T isl 26 B
(B) 250 & B &
(©) 288 FTT = T
P
@ISR oxpBAY 3 W
9= £2d \8

(A) 2381;:: 8 |
\0 \

c) 302 ¥ =00

(D) 308 ®IT 1



Q83

Q83 Raviand Rashmi invested T 150 and T 200 he .
respectively in a business but Ravi withdrew u T i i . |
few months. Ifthe end-of- v syt AT mum ;amm

afz qres SEE BT am < 1w :

his money after #
lwclve.momhs' profit was shared between
after how

Ravi and Rashmi in the ratio 1: 2, :
hs did Ravi take out his money”? frea wEA W=

many mont
(A) 4 et &7
(B) 6 (A) 4
(C) 8 (B) 6
(D) 10 (C) 8
(D) 10
Q84 The average of 18, 27 and another number Q84 18, 27 afik ¢® 3 drad) we @
is 30, What is the third number? 20 & drerd) W A A7 13
(A) 35 (A) 35 «—;%‘
(B) 36 (B) 36 -
(C) 40

DR /v PoliceJobNews.in R
(D) 45 oy
Q85 PersonA can complete a job in 48 min while Q85 @ A s ad @ 48 T # g1 &
Fiﬁﬁ!ﬁ,mﬁﬁwﬁﬁBGﬁaﬂﬁﬁm

B can complete the same job in 60 min. How
long will they take to complete the job fyre # yR1 HR wae B AR 4 U 9™
6 ol @ B¢ A 3 g a A e
c |

together?
(A) 26 mind0s A e S
(B) 28 min20s LAY 26 TFTe 40 s we B89
(C) 30min45s (B) 28 e 20 §ae W = Ggir
(D) 32min 155 (C) 30 fFE 45 w3 yre ﬂ;}@
O (D) 3nfEisEs g,
T 5 Hiew wfy d@e & wfd § 957 99

Q86 Rajesh can walk at Sm/s or cycle at 20 m/s. Q%
He takes 45 s to cover a distance of 600 m
using a combination of the two modes of

e & ar 20 Aex wfy Jws A M 3
WWW%IRW$3W
it @ o 9 600 Hrex A g I T

transport. How long did Rajesh cycle?
(A) 155 | F B fru 45 q@e Am T A
(B) 205 | | wEfre fhad W a6 ATS?
©) 255 (A) 15 A&
| (B) 20 NS
(C) 25 Ds

'y (D) 26 V&S



Q87 The length, width and height of a room are

intheratio 5 :4: 2. If the length is increaseq
by 20% and the width by 25% while the
height is reduced by 25%, what will happen
to the total area of the four walls of the room?

2 oy
(A) Rodueewa of the initial area
1
(B) Increase by 3 of the initial arca
(€) Imtweto'é of the initial area

(D) Reduce by ‘;; of the initial area

Tuhin and Pranab can individually complete
a job in 42 min and 70 min respectively.
Starting with Tuhin, they work alternately
for a minute each till the work is completed,
only the one working at the end allowed to
work for less than a minute in his final tum.
How long will it take the duo to complete
the work?

(A) 53 min ‘
(B) 52min24s '
1D);52min40s SRREE

Q87

Q88

_(By-52 fiFe 24 d@8

Uh wM W wrarg, e i Fuard
514 2% 3rqur A &) afy war 20% s
W 25% w3 R B, e e 25%

T4 & 9 R @ N A AR Eard
B AFAFA oo u @-’

0N Mﬁﬁ'mwfimam

)
(B)nﬂhﬁmm%wm
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S
e o1 Ga€ 8.00 T W J Fwea &
3R 9; 30 9 PR TEA & | @ R
I T ER 8,00 a9 B, A FEd
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C : 8 Pairs m
] : 08t ¢
2bovey P bety " the worgs
GHEE . ASPAT]
(A) Milk : yaye,
(B) Milk : 1
(©) Milk : Cyrg

(D) Milk : Cheese

Q91  “VIRTUE' is related 1o ‘Sympathy” in the

Q92

same wayas ‘VICE is related 1o
(A) Sorrow
(B) Cruelty
(C) Kindness
(D) Emotion

Which of the following pairs most closely
matches the relationship between the words
above?

GHAZAL : POEM
(A) Lie: Falsehood

(B) Chapter : Book
(C) Legend : Story
(D) Teacher: College

‘BEHK" is related to *‘DGJM’ in the same
way as ‘NQTW" is related to ;

(A) PRTV

(B) ORTU

(C) PSVY

(D) PRUX

Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.

Axe : Woodcutter &2 Needle ; 2

{A) Butcher

(B) Carpenter

(C) Tailor

(D) Painter

B0 Frffer # @ 2 T

Q91

Q93

Q%

gmﬁf‘aﬁmfn:
HATTAT Wy

it & sy A @
#

H gy

(A) Tu - arirh
(B) qu : wA+-
ARy 7 : T8

(D) gH : AN

(A) W&
ABY TN

(C) HHuIT

(D) a1

Frefafeaa & 9 @ @ gm 9@ Ry w
W& ® M Hag F Prwean wiEar @
&7

T : Hfar

(A) 3O : Fye &

! e

(C)m:mﬁﬁ‘;_
(D)m:qmﬁqmw

T ¥ “BEHK” ‘DGIM® & wia &
¥ SR NOTW' 3t wiaRm 2|
(A) PRTV ' P
(B) ORTU

~A€TPSVY

(D) PRUX 7



Q95

Q97

Q98

Which of the following pairs is opposite to the
relationship between the words above?
Hatred : Love

(A) Virtue : Vice

(B) Like: Dislike

(C) Friend: Enemy

(D) Safe : Secure

Select the alternative that is related to the third
term in the same way as the second term is
related to the first term.

Doctor: Patients Teacher: ?

(A) Children

(B) Students

(C) School

(D) Classroom

What will be written in place of the question

Q95 Eyerfrftr @ @ @ g A Ry
o] @ wea waw @ faud 87
gor : W
(A) HamER : IR

s
(C)ﬁﬁ:ﬂg -
(D) HHI -

Q96 wﬁmﬁ@mm@gmm

ngmiﬂ“ﬁmw#

wafae 81

Wlm‘t'm;?

(A) a=d

iy T

(C) fagar=a

(D) P&

_

Q97 ﬂﬁmﬁmﬁxﬁﬁwmm

mark in the given series P I

A1Y25C3GTW2307? A1Y25C3GTW2307?

(A) 20 (A) 20

SRR .. Foliceoonews.in KE s

© 13 . ) 15

(D) 18 (D) 18
HonmyT'smbothimmcdiatclyprccedcd Q98 Eyrferfiaa e A oy fpas TE N9

and followed by ‘E’ in the following series?
ETETTMEEETBTBT ETTEETT

TEEBTBTBTBTTBET E

® 7

®) 6

©) 5

(D) 8

What willba written in place of the question
mark in the given series

8H24X7G150177

(®) R

Tﬁﬂﬁﬁ@vmzﬁwyt7
E;ETTMEEETETQIET1er
TTEEETETETE;TEEIE

T

(B) 6 =
©€) 3
(D) 8
Q9 & g AE 3 weAfeE & e W
frar WTeT?
8H24X7GI 50177
(AT
ByR
(D) P



' Q100 What will be written in place of the question
mark in the given series?
B2I9R |8T20H?
(A) 6
(B) 7
(C) 8
(D) 9

Q101 What will be the 29th letter of the sequence:
a.b.b.c.c.c.d.d.d,d. ?
(A) f
(B) g
(€) h
(D) i

Q102 How many T’s are immediately followed by
‘IE” in the following series?
ETIETTMEEETEITETETTIE
ETTIETIEEETEITETETEITE
TIETIE
(A) 4
(B) 7
(C) 6

(D) 5

Q103 Ramesh goes towards North, turns right,
then turns right again and then goes to the
left. Which direction is Ramesh facing now?
(A) East
(B) West
(C) North
(D) South

D104 Sunita goes towards the south, turns left,
then turns right and then goes to the left.
Which direction is Sunita facing now?

(A) East
(B) West
(C) North
(D) South

qv a1
Q100 & wd guel Wi R
fara wg?
B219R 18T20H?
(A) 6

oS
®9 u“’-ﬁ#ﬁ,ﬁ%

Q'ol ?Fﬂ,a,b'b'c,c,c.d.d,d'd,____,——

ey gar B
(A) f

(B) g e

h
(D) i

Q102 ﬁmmmwmﬁ@mﬁrgm
e Atz ‘IE’ &7
ETIETTMEEETEITETETTIE
ETTIETIEEETEITETETEITE
IETIE
(A) 4
(B) 7

fé)r?'/

Q103 v SR ) AR o B, A g €, M
W TN S R AR R aw o ) s
o 5 R ) sl o %‘gh\

RS

(B) ufte Y TR e
(C) SoiX

o &gt

Ql04 ﬁ#lalzﬁwﬁmmg -
: A e ¢
% 2 5 & oM Roe ang e 8 v

Rt oy |
(B) fem N@T”’
(C) &R /

(D) &féwr



Q105

Q106

Read the following question and decide
which of the arguments that follow is/are
strong.

Question:

Should achild froma not-so-affluent family

inIndia be allowed to follow his/her passion?

Arguments:

1) Yes, these days if a child is allowed 10
pursue her/his interests, she/he can excel
init, even financiaily.

2) No,even today our country does not
have a strong soci2! gecurity system and
establishing oneself in unconventional
fields is time-consuming and can be
financially taxing.

(A) Only Argument | is SONg.

(B) Only Argument 2 is strong.

(C) Neither Argument | nor Argument 2 is
strong.

(D) Both Argument | and Argument 2 are
strong:

Read the following question and decide
which of the arguments that follow is/are

strong.

Should parents invest as much in educating

meitdmgmm:smpch as they spend on

educating their sons?

Arguments

) No.alm!tnl\m‘ao s to the fact
that boys are way more intelligent than

2) No,thou ldﬂs’mbéinwlhgem.
parets have to keeP money aside for

(B) Only Argument 2.8 $t70"-

@Mﬁ*-mmwm

@ﬂ%mmﬂwmm

Q105 mﬂwmaﬂq&aﬂtmﬁuﬁuﬁ%

g e ) i R T s £
"eq -

@ e g oRa & A 3 A
P WA B AN A G P I
Hv & Ay’

1) ¢ ¢ Rl aft fr aw @
Mﬂma;ﬁmm'm
ﬂm%ﬂmkuﬁmﬁs

2) 8, 3ot A AR 2 3 A A

(B)a*»aaaa‘vzwmmﬂa.
(C)ma‘taahsmqﬁaa%zmamé!

3

el
(D)H%I:maa#za‘ﬁ’lwnmmﬁ%u

Q106 mwmm\@mmﬁvﬁumqiz

mmmmaaﬁm‘ il



1

Q107 Read the following question and decide

which of the arguments that fo)(ow is/are
strong.

Question:

Should a cricket team have more than one
captain during a match?

Arguments

2) Yes,itis always better o have more

brains Coming to an undcrstnnding
before taking a decision.

(A) OnlyArgument I is strong,
(B) Only Argument 2 js strong.
(C) Neither Argument 1 nor 2 IS strong.
(D) Both Arguments | and 2 are strong.

Q108 Whichof the numbers given below is NOT a

© Square number?
(A) 1225— e
- £
ey s
(D) 4225~ SHAY.

Q109 Select the most appropriate Option.to solve
the equation.
60+5%(16-8+2)+3=

AAT48 (w03

(B) 16 u et

© 1 9

(D) 32 A

10 Select the most appropriate option to solve

the equation é. T
987 + 6,54 +32] = p'SY

AKT19.62 AU
(B) 1863 6 2
©) 1993 / .-LD
D) 18,5

i-m

ol mwmﬁﬁmmﬁvfﬂﬁ&

mmmmaaﬁmm

st o) o 0 1 @ e T

sftrs i 81 fee?

T:ﬁﬁ'mﬁwwmaﬁﬁaé

oy @t g s T wrn & e
wmﬁmmmwﬁm

Sufter &1 Y |
2) a4 & aea el Fivka o

g @ for v 9 st ARt @
B g 8 dwav 2ar &1

AA RS T | e 21

(B) el o3 2 wrgeel 2

(C) T o | M T & w2

8l
(D) 7 1 3R W 2 2 waraweh &

A @ 1 e @ B W 9 ey
8 &2

(A) 1225

(B) 2025

(C) 2525

(D) 4225

60+5x(16—8+2)+3=
(A) 48
(B) 16
© 1
(D) 32

B B A By B

Ry @ g4 ki
9.87+6.54 +32] =

(A) 19,62

(B) 18.62

(©) 19.72

(D) 1852
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115 Identify the odd man out in the figures (A)
= to (E) when the mirror is held nt AB,

bl E

A8 € D E

(A) A
(B) B
(C) C

Q115 fog (A) & @ (E ey ador &1 ABT

fora o) wrar &Y OTd

— o |
dddbl| |
A B C D E 8
(A) A b ddq
(B) B

(D) D (©) C
wviw.PolicelobNews.in BN

Q116 The two words in the word pair given below
are related in a certain way:
Exercise; Fitness
Find the pair in the sets below which has the
same relationship as the original.
(A) Rain : Crops
(B) Practice : Pcrfecuon
(C) Sacrifice : Recognmon
(D) Wcallh Happmess

Q117 The triplet most similar to (3,16,125) is:
(A) (2,8,81)
(B) (5,36,343)
(C) (6,36,144)
(D) (7,64,256)

118 Find the odd pair out from among the
following pairs?
(A) Company:Employees
(B) Team : Players
(C) Ocean : : Ships
(D) Forest : Trees

Q6 Ry my w= gm v fim Wy w0
CaGE

P L B 6 2 )
Raedt # Ry v o it % & @1 36
WO & W4+ T |5 Hear 87
(A) aRRer : wye
(C) &1 . ¥+
(D) &9 : ag

QN7 7 4 9 3 w1 B (3,161 125) 9 afs
_— I v @2 %<
(A) (2,881 3

L, -
By (5.36343) RS
(€) (6 36 144) '@‘\3
(D) (764256) 1\\
< | b, L 10/
QIS RY Ty A 7w % Waera S 3y g @
qEdH |
(A) DA : Ftard
(B) & : )
(LY E o

(D) a7 : g

}'
.
S
y

-



{ AP

. SR TT
Wi R PTR AT (TR i\ R Ll 'l " ..|‘: ~..‘: TP AL ol Wi 0‘
(T “,"““4;\\, ek WAL b “““; .!":-' g
(A KRR LN E R
(M1 KA TR
:I‘;: :\‘:t;:‘u?:: R
QIR M 1AL T e L L TR T R
k.\r\:\:':w‘w 1\“: .: ‘., TR N ERWWII a0 b1 o s VLN iy
e, “; [T v«“ W:M\W [ wilh m";\. WO I T A L LR B
My
EARTAL b gl |
(A) MWL (A Hiwe
() VAWK () WK
(€} RHDUW ) KW
() KHUWD 0N KHuw
QIR NManmaohan ix the tucihgr ol Pavesis Haw QIO sty sl gy werd By softor o i
1% Pravoon’s onty wiater s rihor s el ,“" Y o o vt O TR ey
el 1o Manawshan® Wt 7
(A) Matornal gramdither (A)
(B) Sister (B) awa
(€ Aunt (€) ¥
(D) Cousin (D) 9 aen
Qizo thmmwmmmwwis Q120 ww wreyarh @ 3l weha FE &Y Wy
the son of the only son of my grandtather.” HEd ¢, 98 W G D @R RWHR
How is the iman in the photograph related 10 ¥ | P e gon wia | e e
(A) Brother (A) g
(B) Father (B) M
(C) Son (©) 4=
(D) Uncle (D) =v=n
QI21 Pointing to s woman, Gita said, “She isthe Q121 % et i 3l
daughter of the only child of my 2 a8 3 <)
o | e o & REW TR
(A) Nnee (A) W
(B) Cousin (B) W a&
(C) Sister (€ wen



Q119 Choose the correct mirror image of the

quect given from the answer figures: eibr féﬁj :;Q %ﬁ:;j ﬁgﬁﬁq IR @aw
M |

A 24
ZorieNEd A

» » 3 >

Answer Figures: e e B
(A) A (A) A
(B) B _ (B) ¥
©) C AX):
(D) D (D) D
Q120 Which is the odd one out in this set: Q120 fre W # A} Ty e A R
Metre, Mile, Furlong, Acre, Yard ey A, BA, TS, s
(A) Metre (A A=
(B) Mile (B) A
(C) Furlong q
(D) Acre (D) T#S
Q121 Findthcoddpairoutof the following pairs: Q121 fj‘q mr‘;ﬂ TR gl ¥} waq Ferm gm @
(A) Social Scu:,nots:l’hys:cs s g | s A
(B) Mathematics : Algebra A .
(©) University : Harvard (8) P : & o
(D) Fruits : Banana (©) freagad T
(D) Be : Hel

Q122 a8 f wmmaﬁaﬁd’nﬁucéém
B4l o B e B I g 7€ U
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Q128 MW ORI o e Wity
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D - B

Qi24 6 vy e o . A g
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Q124 Select the odd figure out of the following
figures:
L) [ [
RN ER] (S

(A) A
(B B
©) C
(D) D

Q125 The given figure is folded on the edges 1o
form a cube. Find the option which
represents the faces of the cube correctly.

‘o 0|®
e

2

le‘ MWWM‘!!\!W@W&?%\
awar |

ZIVON 2] |

(A) A
(B) B
(C) C

M7 D

Q125 uet Ry 7y fra &) faemer @ MNeswe v
mmmslcnﬁmwwmamr
mmmammmmmmm.;n
? qufen &

+ 1010I®
°
(o)
A) | + |*
@ | O |«

€ | B
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Q126 T o s v et o N9 faw o G
ot Mo g oowten o o TN A, ol

\ > (‘\'N\“M”-mﬂh '“'“ ‘
ot @ wvm By

l"l WO aeng the e I
mrorw, e, e
o, Peacil, Pager
A 2.0 ! Y S "
‘ -~ . A.
|y -
oo ) () o
“‘\ . . ~
S ‘D’ -
; 1 A TR W
QLT Mdomtify the odd s Q127 fars (A) & @m (F) om A ¢ _
: = (5 when DUt 1 the » fors ofy gEar o G fh 299 W AR
e mirror is held at AR ‘
A

aagha | eI |

A8 CHD B

A 8 ¢ 0 € e

(A) A
®) B o i
©C (B) B
(D) b ©C
(D) D
DRI Sheton ket theisindiuir givenbeiow QI8 T ¢ Y e KT RRInS. SR
are related in 3 cenain way: T:':‘:'
Exercise - ﬂ‘gﬁ!ﬂ‘
Mﬁ;ﬁmmwﬁumw fameat 3 faw o e el A A AW @
same relationship as the original. yPR B Wwa B s 87
(A) Rain - Crops (A) afw © o
(B) Practice : Perfection (B) 3 - Fgeren
(C) Sacrifice : Recognition (C) Tar - WA
(D) Wealth : Happiness (D) &4 : W&
QI29 The triplet most similar to (3,16,125) is: Q129 = A | ¥ W B (
(A) (28.81) [ v 8?2 |
(B) (536343) (A) (2,8.81)
(C) (636,144) /" (B) (5,36,343)
(D) (7,64,256) (Cy (6,36,144)
(D) (7,64,256)
Q130 Find the odd pair out from among the Q130 fRu wy wr g A
following pairs? aEar | |
(A) Company : Employees (A) o ar
(B) Team : Players (8) ¥ - faard
(D) Forest : Trees (D) @ : 38



: frmeat # A faa 3 e 3e o
: is related to figure 3 in the same Ql28 fav 7y _ orafe = 2 e 4
Qiz8 %'Chf-gu:';';rclmcd to figure 1? e W A 8 o
way as figu gk 87

YL emen

@

@
-

(C)

FE
(D)
(D)

1129 Find the odd figure out:

Q|29févwf?tam‘iﬁémﬁamnfém

(=) &) geae:
(A)
(A)
(B)
(B)
(C)
(©)
!
(D)
(D)




Q130 Consider the given two statements to be true

! ; Q130 M BB
even if they seem to be at variance from ma;‘,ﬁq:? ghe P Ry &)
commonly known facts. Read the ; e WA (GO qEvE @ 3
conclusions and then decide which of the e T i ), P s e

: , : ﬁ am kTS m m - m aﬁt
given conclusions logically and definitely afn e = Iﬁrm’t :‘f‘; EC IR "
I el

follows from the two given statements, T =N
S ; ' 7
tatements: ) oA e wwd A §) “

1) No window is a fish. 2) i Awdl g 8 @
2) Al fishes are men. @ .

ﬁ{mﬂi 3
Conclusions:

| @ R s g o R
1. No window isa man. 5 o N g e A R
2. Noman isa window. y. @Y TR AU 8| AV
3. Some men are fishes. 4 < S RO £y
4. Allmen are fishes. (A) fed Frepd 2 3R 4 FEHT (el @ren)
(A) Only conclusions 2 and 4 follow 1
(B) Only conclusions | and 3 follow B) fas fyepd | 3h 3 (e M) HE
(C) Only conclusion 3 follows #1
(D) Al the four conclusions follow (o foo Fepd 3 & (e ) ¥
(D) fed Frent wEw (vt ) ®
Q13! ConSiduthegivent\vosu&ementstobetmc Q131 A @Y P affz e FRg 0 81 BT
even if they seem 10 be at variance from g el B A Y (i W
commonly known facts, Read the et e weha € ot
© aclusions and then decide which of the ot e e S Py @ 1 P
givcﬂ Wnclusions.losicdw and definitely ah Ffae ¥ 9 el ® AL IO
et 3 ents. Ll '
fonqwsfro,"l\ﬁwm given SWIC g /s (=
1 Sm;hdksmdnstcﬁ. 2y ‘o Ay @KE
orfbeid et - \G*

25 Al the dusersare bow
gl 2 (B)Wﬁiﬁﬁ 11w (e nnm'vf-'
(€) A a s @ yp s (7

il
() 131 11 it @ e (| T




f

i be true
i following statements to
Cli Com:$cr u:‘y' :ecm to be at variance from
cmm::nly known facts. Decide which of the
::,v':! conclusions logically follows from the
statements,

Statements:
1) Some desks are caps.

2) No cap is black.
Conclusions:
I) Some caps are desks.
I1I) No desk is black.
(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Both, conclusions I and 11 follow
(D) Neither conclusions I nor 11 follow

QI33 Find the missing number: 2, 10, 30, 68, ?
(A) 101
(B) 102
(C) 130
(D) 104

QI34 Find the missing number in the following
number series:
4,17,34,53,76,?
(A) 105
(B) 85
(C) 95
(D) 103

135 Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.
Thermometer : Temperature :: Ammeter - ?
(A) Voltmeter
(B) Current
(C) Mass
(D) Energy

136 Which numpber follows in the given series?

0,2,6,12, 20,30, 4
(A) 64 » 42,7

(B) 50
(C) 56
\-FN (D) 60

R
1) mo @ o &

?m@mm!n

1. = N 3w weh T8 &1

) e ot | wrewa (e ren) &

(B) foed Frsnd 1l wewmr (e ) &)

(C) 13R N EFT & wewa (e @) &)

(D) = & 13iR =1 & 1| wewer (3t @)
gl

\,‘\’ \,”‘ -‘ e

Q133 IruRerT W& ST &% 3. 1013068,
_(A) 101
(B) 102

,(,0)’130

(D) 104
Q134 FrfaRan wem—sgwen % smuRers wean

ST BN | \

217,34,53%, 7 L \*3‘?5\.

(A) 105 o

(B) 85

(C) 95

(DY 103

Q135 W ey &1 g+ ot ¥ vz & 9xt wam
Hafd & Ry yoR govr ug ugd ug R
< fer &

Q136 @ d Hwen A TR Hean war g

0,2, 6.92 20, 30, 42, 2
i (A) 64

(B) 50

©rse

D)0 SET.10
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QI37 Ahe given figure |n falded on 11 wilges 1
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form & Gube. Find the aptivin
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Q137

Q138

Q139

Q140

Qi4l

Q142

Select the alternative that is related to the
third term in the same way as the second term
is related to the first term.

Doctor : Patient :: Lawyer: ?

(A) Judge

(B) Court

(C) Complainant

(D) Barrister

Select the option that is related to the third
term in the same way as the second term is
related to the first term.

226:15::65:7

(A) 13

(B) 4

() 12

(D) 8

Complete the following number sequence.
2,5,10,17,26, 37,7

(A) 40

(B) 42

(C) 49

(D) 50

1f BAN is coded as DCP in a certain code
language, what will PAPA be coded as?
(A) RARA

(B)

(©) ACCC

(D) RCRC

11 a certain code language. FILE & writen

mmm‘dlbiéiﬁl'aiswﬁmnusussa How
will DEAF be 1 that code languase”
(A) 3478

(B) 3588

(©) 3587

(D) 4578

T STV O

(B) KMHIDERS
(D) KN L

S be coded?

R

Q137 31 fRww W g W f
: gg | I
waR w8 fore weR I 9

—~  fufyees 0 aa 7
(A) =Rt
(B) =arad
ey afirvaEn
(D) afR

Q138 < Rrwe 9 B St o § S
<~z @ A B
226:15::65:7
(A) 13
(B) 4
(C) 12
(7 8

an QY| 7, {‘3?1: 3ﬁ®ﬁ\
3.5, {0r177267377
(A) 40
(B) 42
(C) 49
) 50

Qu40 afk fasil e @me W A BAN ©
~_~ pcpe@m ® A PAPA & @rs &1 ET7T
(A) RARA @ RC
(B) CAAA
(C) AcCCC
MCRC

SET-10



0
™
:
.
v
~
:
:
"
¢
’
-
:
:
‘l
X
;;
:
:
.
i‘h
o
=
L]
A
1
Q

/

s
A"
Rittil
9
#
Frrtafae fae
g

£
9
3
1
Q




Bl

Q143

I anslder the U'v.,,.

avan 11 They (. L) "
o
cammonly 0 b iy
s v k"“w a Vil i e
: ny )

DO Tusions " "le ‘“‘"‘ It s "nm b
“.‘
“Iq

given cmwlum,m
follows Trom v, )
Statements.

1) No windgy, is
2)  Allfishes gy,
Conclusions;

I Nowindow i N man

2. Nomanisg “"Mow' '

3. Some men gpe ﬂ,h“:

4, Allmen are fighe

(A) Only conclusions 3 gg 4 foll
(B) Only conclusions | and 3 fou::
(C)‘ Only conclusion 3 follows

(D) All the four-conclusions follow

Consider the given two statements to be trye

even if they seem to be at variance from

commonly known facts. Read the

conclusions and then decide which Q’f'm

given conclusions logically and definitely

follows from the two given statements.

Statements:

1) Some chalks are dusters.

2) All mcduswsmboards

Conclusions: |

2. Nodusterisaboard.

(A) Onlyconclusion 1 follows:

(B) Only oonc!usiomfol!@‘? o
et conclusion 1 nor 2 follows

(C) Neither o r;undZW

(D) Both, conclusions 130420
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S 1Ay e @ gt E
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2)  HH) Mo e By
e

L. W W frasady
wTg W g (s

S S8 R
BY FUH "o B
N gE wed) &)
(A) T fraed 2 ol 4
)
(B) fup Presd | 3w 3 (@
2\
(C) fae et 2 wewa (@ @) £
(D) foeh Frad wesa (@ @) =)

2.
3.
4,
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FEEIA
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0143 #\aqgﬁmmﬁ@ﬁ | d
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ﬁmmm%aﬁamﬁmm
mﬁﬁﬂam%m&ﬁm%\
HAA:

1) agsa\m/@%mm%\
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Q143 Ina code language, if BUTTER is coded as
EXWWHU and MILK is coded as PLON.
then. in the same code language, how will
EARTH be spelled?

(A) HDWUK
(B) HDUWK
(C) KHDUW
(D) KHUWD

Ql44 Manmohan is the brother of Praveen. How
is Praveen’s only sister's mother’s mother

related to Manmohan?

(A) Maternal grandmother
(B) Sister

(C) Aunt

(D) Cousin

QI45 Pointingtoa photograph Savita says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related to
Savita?
(A) Brother

Q143 et me s 3 4f& BUTTER &1 &g
EXWWHU 3t MILK &1 @18 PLON &y
S ea’tmazammﬁEARI,Hwaﬁﬁtm
STYIT? o
(A) HDWUK-
HDUWK
(C) KHDUW
(D) KHUWD

Q144 wpsires wdor &1 WIS B | 9T A vy
maﬁ*ﬁaﬁ'ﬁﬂﬂfilﬁ?’i%‘am:

% Hﬂﬂ:’;? AR - %‘\?R -
(A) >
(B) ¥&+
£€) g3
(D) 799 T8+

Q145 U BIEHITS ) 3R ¥ e 5v whm
TE €, A8 W TMET B UBAF A2 3 3
Al T S R A—

Haferea &2 nﬂT{ : QE]
(AT N e

RO v Policeoobnews.in IECG b2
(C) Son €) y=

(D) Uncle

Q146 Pointingto a woman, Gita said, “She is the
daughter of the only child of my
grandmother.” How is the woman related to
Gita?

(A) Niece
(B) Cousin
(C) Sister
(D) Mother

Q147 What will be the next figure in the given
series?

(D) =rET

Q146 wqﬁmaﬁmmaﬂagzﬂmm
B "I A I B e wam @ i
— 8| AR e © R wer g 22

(A) el m\-\\ 5‘3‘1
(B) 7 g S g\fr
ey T' A 3
(D) #Hi ad

Q147 & g s W et smpfy aar Bl

T @
@ @ ® |@®
© (&)




Q148 Find the odd figure out:

(A)

®
@ B

VA
- &% @

‘l Q149 Choose the Venn diagram that best illustrates Q149
\ the relationship among the hree classes BIVeR P aut & W4 £ e T
\ below: A | I 4

o, WO, T

Birds, Fish, Chicken.

agram a @ 1 o faq T
' the Venn di t best {|lustrates Q150 .
8 :tionS\" among Jasses 81VE" / v} @ ¥ed ) aredl Ay W
: ::l:w 3 i | T ;;m
- o
Sports, Football, Lizard ; “‘ﬁ‘:‘ - -
L (oY o
e  Cc.c
7= "/'7 \\b (D) \i— 1)
o (O / &
_ = o &

<y



